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Nr Funkcja Pochodna Uwagi 

1 c 0 c∈R 

2 x
α
 αx

α-1
 x,α∈R  α≠0 

3 e
x
 e

x
 x∈R 

4 a
x
 a

x
lna a>0 a≠1 x∈R 

5 sinx cosx x∈R 

6 cosx -sinx x∈R 

7 tgx 1+tg
2
x=1/cos

2
x x≠(2k+1)π/2 

8 ctgx -1-ctg
2
x=-1/sin

2
x x≠kπ 

9 lnx 1/x x>0 

10 logax 1/(xlna) a,x>0 a≠1 
11 arcsinx 21/1 x−  x<1 
12 arccosx 21/1 x−−  x<1 
13 arctgx 1/(1+x

2
) x∈R 

14 arcctgx -1/(1+x
2
) x∈R 

15 shx chx x∈R 

16 chx shx x∈R 

17 thx 1-th
2
x=1/ch

2
x x∈R 

18 cthx 1-cth
2
x=-1/sh

2
x x∈R x≠0 
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2
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14 arcctgx -1/(1+x
2
) x∈R 

15 shx chx x∈R 

16 chx shx x∈R 

17 thx 1-th
2
x=1/ch

2
x x∈R 

18 cthx 1-cth
2
x=-1/sh

2
x x∈R x≠0 

19 arshx 21/1 x+  x∈R 

20 archx 21/1 x+−  0≤archx<∞ 

21 arthx 1/(1-x
2
) x<1 

22 arcthx 1/(1-x
2
) x>1 


